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INSTRUCTIONS TO THE CANDIDATE (e;08 5rdiSes)
(Read the Instructions carefully before Answering)
(EIww ool dnods &hs ardhom wiEsr Se800ssB%)

Separate Optical Mark Reader (OMR) Answer Sheet is supplied to the candidate along-with Question

Paper Booklet. Please read and follow the instructions on the OMR Answer Sheet for marking the correct
response

T als

.,_.ﬁ;i,:uré; =MSP0 wESGS S snEd 3l 846 (Eo0esh) 2orw Sido wobedsdo. HﬁEQm
=oEed R9) 2o Lloud aaom Sgot X ardidar g H00odSOwW.
The Candidate should ensure that the Hall Ticket Number and Namie of the Candidate are properly

printed on the OMR Answer Sheet provided to you. The Candidates are further instructed to ensure

the booklet code printed on OMR Answer Sheet is same as the Question paper booklet code
supplied to vou.

§ ermoidon Eranodd ddes' 36828 5dab 086k BE H0m (VolS YoiT o
@l HOECRE D5, wgd 83% al)d Lloul uTw S@0 50 S hodd whIY ¥&, a0 @580
28 Zoso0d i FE il souid 38 SOIrWEISON.

Changing of answer 1s NOT Allowed.

2eydn J8 S0hA0S T ArEHL® CRS000D8 0. ‘

» TheC andidates must fully satisfy themselves about the accuracy of the answer hcfurepdarkmil:lg ;h;
approprate circle of 1,2, 3 or41n ihe OMR Answer Sheet with Blue/Black Ball Point Pen, as
sossible to change or erase once darkened.

I.a 22 £ JonE soedgon Fe0AN oo asado BE6 suty vkl Bgom™ sG*'Dod
:":‘ Moo OO Awg f—-:gi"ﬁl}&ﬁ wsyd' 1,2,3,4 SHood' :1!5 E"JJQ';-'-:I_} REGESS ﬁ'ﬁﬂ?ﬁgﬁél
“L'_;:}f Eraser or White Fltid on the OMR Answer Sheet is not permissible as the OMR Answer

' and | ' lead to wrong cvaluation.
machine gradable and it may lea R
. ':u choge s dom 2 aody Hes Lloud sTm HFop 3B onb ™. Gepdo ma

r.

oo

TELE DG e - i if the paper scal please check
, ‘ tion Paper Booklet by tearing 0 - PR
Imm?dll.lﬂ} .un nphe:q;ﬁe:h:ufi}:?liﬂfﬂﬂ} on each page, (ii) Serial humgei!' of T:Lgl::;s:l::s
for (1) THON N v of pages and (iv) Correct Printing. In casc of any fiv m‘*,ﬁum Won e
(1-100), {_iii:l The I:illgk for replacement of booklet with same code within five minutes
the ipvigilator and as

test.
cc;n_u:ﬂn;:n:::f;;db L& oabhng Sobn egbw Suwom () 8% Tarouoww =50 ¥4
LEWTU WY e

- o Ld e B8 $0800DESTN. (i) 1 Z0& 100 fﬁﬁ: l;ad;,:mfd:; @;f;aﬁ
S/DINIG I,,;l - ﬁ” _4:*“ 080 S6as (iv) NgR S, N a8Y,™ :'-‘AQ.T*J > N
a—— l;':cs 25600 Gl Brokdd D08 FSogd 5 DTS BTEN Srdaﬁ‘ifi‘u.
0% Ghdo ﬁﬁa@"]‘f‘kfiifcu g;;nu, Pagc: Calculator, Flectronic watches and Mathematical/Log Tables
E:;?L?[;Tnﬁﬂgjifm; ::hu examination h:a.llii.t
46€ s HE0B08 Jo LAk 20502

enEen E;ﬁ;ﬁ:ﬁﬂdﬂd:ﬁ- PTO

41
w3 DO, b, ?ﬂﬁasauﬁ, JHEHE Then, Add/a
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Time : 3 Hours
Instructions : Marks : 100

(1) Each question carries one mark.
28 DHB ok S0y, Bodh,

(1) Chﬂ_ﬂ# t!w correct or MOst appropriate answer from the given options to the following
qUEhl1{:f:nb and c_larl-r.cn, wuh Ihhm’hlnck ball point pen the corresponding digit (1), (2), (3)
or (4) in the circle pertaming to the question number concerned in the OMR Answer
Sheet, separately supplied to YOUI.

BRS 2SI B8 PHH ABAES TES* OGS HIrTIZ0H FNED TRD wrdod
©02 (1),(2), (3) 88 (4) Iorr mS OMRISErTS HESwS' SHb SoboBods Sopghe
AR ar/af ovd ronods W) GOGrhod AoHSEB.

I eeeeeeeeeeeeeeeeee—————————— ——

I. The number of zeros occurring after the last significant (non zero) digit in the product of
73%60x48x35%x30%24=18x10x%5 is

75x60x48x35x30x24=x18x10x5 ﬁ.‘:gar_’i‘ D30 |Framgdiio {-i!‘ﬂtgéd} @os Sad
.?.'55.3[3 w)o Do
(1) 5 (2) 6

(3) 7 (4) 9

2. The sum of the distinct primes that divide 5400 1s

5400 %o grhod IS BHES Sopge INEo
(2) 15

4) 28

(1) 10
(3) 17

3 The number, among the following, that divides 712-2% s

Eod TS, 72— 22 % rhold Jopg
2) 33

(1) 32
@) 35

(3) 34

: www.sakshieducation.com
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The average age of two sons and their father is greater than the average age of the twq
sons and their mother by 4 years. If the average age of these four persons is 19 years ang
the average age of the two sons is 6 years, then the ratio of the ages between the father

and mother is

2% BSrdos 20050 0 Sod A, Hikn Sakiy), © ags Sdrthes 53038 3y
80 Q) DKLy ScBdy Eod 4 PoSETen JEyS. & Seord S50 BT R
Sosiy) 19 BoSdores 500k & BE BSrtie BnE), Bt Sc8y) 6 SgSHTOwE
@ So|@ Hoboin dO Gk, SahRw Jg “

(1) 19:13 (2) 18:17 (3) 17:13 (4) 16:13

The average weight of A, B, C is 84 kg. If D joins this group. their average weight
becomes R0 kg. If another man E who weighs 3 kg mor¢ tlmndD rcplgcts A then, the
average weight of B, C, D, E becomes 79 kg. The weight of A (in kg), 1s

A, B, C o @ng 96t wbhd 84 8. 208 DBOSId &0 DA 2P 80 8.
wHdood. D Eod 3 & yr. 855 adIde E w08 3g8 AS wdeom 30y 263
B.C.D. E v ot 269 79 8. ©)&ob, odyd AQnE, b (B mdSned’)

(1) 68 2) 72 (3) 75 4) R0

A trader bought 2 cycles for a sum of Rs. 7,800. He sold the first one at 4% profit and
the second one at 9% loss. Later he found that each cycle is sold for the same price. Then
the cost price (in Rs.) of that cycle which is sold for loss 1s

L& 0 &, T,8008.2 Tbdy Sands. w85 InGH TV 4% TFoSE, TodS T
9% $h08"% DFoncwd. © S60TS ek PO PESH 23405 vl HgoTd.
soné STk @ﬂnéaﬁ 2ES qnE), £ Jo (Eomueres™)

(1) 4.560 (2) 3,240

(3) 4,160 (4) 3,640

S

A person sold an article for Rs. 144, thereby gaining a profit percent equal to the cost
price. Then the cost price of that article (in Rs.) 1s

&8 58 8 SB39 &, 144 o vindo oy, Fo)doso PErIDS orFTe) FoTd.
©®008 © WY GwE), FHIe (Ered’)

(1) 64 (2) 75
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8. The cost price of a pair of shoes is Rs.
sufﬁ.’:l'ﬂd a loss of 12% in

was

800. Its marked price is Rs. 1060. If the shopkeeper
the festival sale, the approximate discount percent he offered

o8 B8 28 FHAeo &, B00. &d) 1H5EGBES 3o 8. 1060. Sl DESros' s naddsd
12% SP0 I, w88 aQyS 8 ot TS0 E5rEIT

NS 2) 336 R
G 2 5
.

e P sold an article to Q for 25% profit, Q sold it to R for 15% loss, ar}d R ;:iﬂlﬂ it 1o S for
20% profit. If S bought it for Rs. 204, P’s purchase price of that article (in Rs.) 1s

Pof 55098 Q8 25% wged’ ek, Q@I RS 15% S8 w3y, R
S & 20% orardd eEnd. ST & 204 & o8, P e S&pc FHde (Ernest)

(1) 160 (2) 175
e 2
(3) 240 (4).310 S

Df

discount allowed 1s

- - i D i é

2 9
1) 14

= 20% &ib'z,ué.:aa‘b 5058009 S50T°8,

G308 HEBS D0 b, $o ©whBo?
e d:s'mﬁ‘d-"é: 28 533@ 3 ;g} E‘ﬁlﬁu 0B, TV lﬁgﬁéaﬂ Jod TO
a o (DlewN)
(1) 40 4) 16
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gth 180 meters moving with uniform speed crosses a telephone poje |
Due to detachment of some coaches, its length is reduced to 150 Metery o

Now the time (in seconds) taken by this train moving with same speed 10 cross a brig,,
of length 120 meters is

12. A train of len
18 seconds,

DEErDIK0S BosrBod 180 Dobrg daH fo b Do wob 8 SOV Zupy

Q&Y
18 2ESS* riaddood. TRS* FR) DB Fotodm T FaH 150 HEEENRTotni,

Thi
aok ol o2 =,

- - n8 5T 220080 (ke
00 INcd & Dwo wod 120 bd FEY fo “oBS% oLaat g X

(1) 27 (2) 25
3) 22 4) 15

e

: ' ’ in 28 meters, thep
13, Ina 100 meters running race, if A defeats B in 10 meters and defeats C ther
in how many meters B defeats C?

=3 = e
100 Dot 58k 5080 A, 10 obog 8as’ BR, 28 Howog Brs’ CR 8873, CA By

(3) 24 (4) ‘a0

14 A certain number of men will complete a work in 60 day's,. 11+:* 8 men join them, it willbe
" finished earlier by 15 days. How many men were there originally?

S o508 Hdtoes hE BIM 60 Freod’ Bokhied. S5 8 Hob YHhww 68 803
s 22 15 Seren Seiodoma Jr8 exacod. wond JndL &) Y Doy 2087
(1) 24 (2) 22

(3) 20 (4) 18

_-—-—'_.-.rr

15. 12 men and 16 women can do a piece of work in 6 days and 15 men and 30 womet &
do it in 4 days. The time (in days) needed for 6 men and 12 women to complete 115

12 %308 HdoRren, 16 0obd I:.}T.:-’m 28 DA 6 Ferod® Trdd Ddodn 15 Jod <Y
30 $008 Re0 ©8 SIV 4 Fwrod’ Tabiod. 6 Hd Yww, 12 Sob

b0 B 9

=
8 WohaRs DR sroHn (Bddnes?t)
(1) 14 (2) 12
(3) 10 ) 9 L
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Chﬂﬂdu IEI"LE'H‘. [“.r'.-‘ g
. t - ﬂ1 ”".".:II = 1 :
1 lime a8 Ay lllilﬂll HII[i H'II’IL'L" il% H'I'I.I'L'I'l time as S.‘Hi."&'h 1o ﬁﬂl‘;h

a picce of work. Chg; .
nasiad for m.'i“ﬂﬂ:"::i:;:;mﬂmi 1h:]t work and after 2 days he left it. The time (in hours)
Siand Satish to finish the remaining work together 1s

SodoB., LE = : = .
= ks SV DT VE wHGEe QLOETerdB Bod T HScho Dbcln HOGS8
LEREFCTWE Sor ST .
ja . a0 oL Sdaho pad. WOl » 50 \2r8odod, Bods Swe SST8
E .J- - i, " a
©3 JEWowdo. WADS BDY ©ITG Hbuks LHTE: KO It AckaIB
:;.LEE":::-;&:.: (Rodyees*)

C

S

Booklet Code :

l
(1) 267 |
5 (2) 342
(3) 22~ T
3 @ 195

17.

g 3
Let the sum of 3 numbers be 13680, If the first number is E of the third number and the

ratio between the second and the third numbers is 4:7, then the first number 1s

3
Sordhy Sopge Swdo 13680 wosiomro. Sndddong Sordddopgs” ;j' S Sody bl

Bodd, Sordd domge I8 417 ©wo0d, Y Doy
(2) 3,780

(1) 3,600
(4) 4,800

(3) 4,280

|
R I A

37475 6
in order to do this distribution 1s

A boy distributes chocolates among four of his friends in the ratio

r of chocolates this boy should have,

minimum numbe
P k1. y <
= DANGSt TR Dowrd. & dfe
A Kook © el S wodSoRS TR EI8 B
1) 60 (2) 114
23) 57 (4) 54
T7-C
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) : o % of his prope _
R - . older son and 30% of his property ..
19. A person gave of his property 0 his elders l in - O,
: o ¢ daughters in the ratia 2 :
son. He shared the rest of the property among " I]hr1L1LIIrrllf.:'l'{Il'i?l‘:;4:;-;t ‘*ih'il': -:lllm 32y,
of his sons got Rs. 20,000 more than the other, the s “Mong yp,, 1_1,;!&-.
of the daughters 1s
+ )
(1)  Rs. 18,000 (2) Rs. 22,000
(3)  Rs. 24,000 (4) Rs. 30,000
1 Mdm
L 35§ 85 GRS DEHIrGAE T S Sodd SoDako DR RES 30% amy, 4.,
S50 830 S Soirdef 3:5:2 IQPFS® Dol QU @8I Sirdeg A%
TodSTased dr 20,000 I8 Fodd, LY FEFVS' VSghE Fir
(1) & 18.000 (23, & 22,000
(3) &= 24.000 (4) & 30,000
20 The ratio of the present prices of two bycycles is 2:3. Two years later, when the pr
the first 1s increased by 15% and that of the second by Rs. 475, the ratio of their pn:
becomes 3:5. The present price.of the first bycycle in rupees 1s
Ml T g (A 4 - g o o , i
Code 8¢ W v )8 2:3. ot dﬂ&’)mfjdnﬁwﬁ: SBE0Teé, 08¢ wben & 1!
20A, BodS ke = 8A% ‘e 5
(31 -
(1) 1090
(2) 1120
(3) 1140
(4) 1280
2] > diffe -
If the difference between the yearly com Bt

3 years on a certain

annum is Rs, 1080 1 n ke
OB AL - - , then that amount |
Y - nJE'r& Q‘Méﬂ ﬂuﬁéﬂjwmg IU% 5 o

;5' ¢ E »

;5.13‘65.} o :J"" 2 B - "":'U;’Jé D"E_}ég oL =5 -—:~ﬁ.§ :é:’_ﬂé o~
CRQTOs ST ﬂ‘o'aaﬂég fo o & o =~] uiﬁd J08 =i _«E;“.‘;

(1) 10,260 - 1080 wond. e 25 (ErTH

3) 11.400 (2) 10,800
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A person i"l{‘rﬂ‘l‘t‘l.!..-._\d sOme money tor "l”'l'I]‘fiL' mierest and the interest Pﬂld by = th afitie

principal. 1 the magnitudes of the interest rate and the time period are equal, then the
rate of interest per annum s

F

: el - o= ‘:.]""-""-‘ o 8 W MR e T T A, LT - T S A - LG .
Bubiaaga Sod R dred K u,_,;_,.._,_]-.,."’ﬂ oSz Toly f:h.:l.l?w“.n'.'l"'"ﬁlf.r:,a Sab Gl widy WL w%- Wl
[t L Al :

(I'.-

. £ = . F o . e i < A
S Do, HGT0Ln Hidin sTo Sgidiu H0DrlLe) LErESo008, TUE S5O

]
% (4) iﬁ-‘;%

or si " ' el ars.
A person borrowed a sum for simple interest at a certain rate for a period GFTZL ye -
If he has taken it for 2% higher rate, he would have to pay Rs. 720 more. 1hen

sum (in Rs.) borrowed by him is
2§ S0k Sud B0 3 donayTre st B ﬁg%ﬁmﬁ‘ wﬁé%ﬁ W-Telan ﬂ:fménﬁ?i
el & TR 2% JE5S TS 52FD &od, wéd &r. 720 2595 DHoUIL
Sy Gamom Sk 30, (Ernees®)

(2) 10,300

(4) 6,000

.‘:5?::‘:3&. eroood &

24.

un oOITowe S o . L 1,
S b d R 25 000 f 20% CDI‘I'I[JDUHd interest per annun

11 a moncy iEﬂdE[’ at _ , :
: f h .}"EEI? he !'E;'J::ld Rs. 5.,{]{][] [he amount he Sll“ owes 1o the lender afte
At the Cﬂd (1 cac

‘ ctalments is (in Rs.) J
S - 0% xﬁ@é@? sy, 25,000 Seepoi™ ST

L€ B4 g Soob WIS D08 2 4or oS0

wds &r. 5,000 80N L))
43 ;‘;%aﬂaaﬁ*ﬂﬁ mokdr R90

oo, werodd TORT O

S ﬁ&?ﬁé{aﬂ'ﬂtjﬂﬁ‘ S505% b0 (Eree)

ST ALY StTd wd

2) 22,500
(1y 2509 (4) 20,000
(3) 211600 ____________._——-—-—'—'_'_'__-—_-_._ Py,

G
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her of times the number-key buttons of a type writer have to be pressed i orde
The num : .

o type the first 300 natural numbers 1s )

1 F. A o &
...u:'l- 88 Sardodolo e e ;Eumaﬂ:.-‘:b 85 dohoas, ws 89 ELJEF_J o Soprg-§ wu,
k) d b b ! =

. # ol wi
5§ SO 507goANG WO
b

28

R

F

(2) 684
(4) 300

(3) 762 | -

(1) 792

—

—

artially filled with water. Assphere of 3 ¢

5 i " e o i 1M ]""r ]1
: - evlinder with diameter 6 cn y |
A hollow ¢\ is immersed in water, then the water i,

diameter is gently dropped mto the cylinder. I 1t
the cvlinder raises to a further height of

(1) 3cm (2) 2cm
l
(3) 4cm (4) -E-cm

6 0.0, JgR0 EOfHn 8 ﬁ'g[hnllﬂw}m &) BRDoSt Foderio Q&3S Jodwd Gob,
3 200.a0. J°gROIT HOAS 2.8 AlerR) D B &5 [ HoS IS EDENTE. B H¥o ol

NS Jromr SRIASDYE 53505 ABHE o 3%y wdivde

(1) 3 o.ab. (2) 2%o.a0.

|
(3) 4 »o.D. (4) E?eaaba.

—

27. A hollow iron roller of length 63 ¢cm and having girth 440 cm has a thickness of 4 cm.

The volume (in cubic cms) of metal used for making it, is
& (hollow)r &3 w8 'Y ol Ang) ey 63 0.0., &0 DinFed 440 2)0.40.
SIS Bodin 4 20.0. T S0irbl SHAEPACDS ST DSHBBTE0 (0 o D.o5 )
(1) " 116740

(2) 108412
(3) 107712
(4) 105692

www.sakshieducation.com
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28. A solid cone of height 9 cm with base di

, ; dmeter I8 cm i :
sphere of radius 9 cm. The percentage of 4 IS cut out from a wooden solid

wood that is wasted in this process is
9 Do, g KOS D8, 8" Wohads Yo $08 18 2o

D& EONS 0.8 K43 Yoot B8 Sasrced
(1) 75

(3) 65

0. E PgHo, 9 No.Do.
T0. & HBSS* SggR Dy, ook, wESw
(2) 67
(4) 60

29,

Two pipes can separately fill a tank in 20 hrs and 30 hrs respectively. Both these

1 : l
pipes are opened simultaneously and after the tank is Erd full, a leak develops in the

o
tank through which 3 rd of water supplied thereafter by hoth pipes gets leaked out. The

total time (in hours) taken to fill the tank is

S0t P JEIEM ¥ 8% SHIm 20 dobes i, 30 fobod 'S Jodiod.

1 2 ,
& Tod> BYosH eF0 BEDS SHTS =5 Sok 5 JobSiyd, SJS* IAS 58 Sg

1
& 0ol LI OO 6 S8 Hobed WoHhas A8ls* -3;.‘.’: S0 Nk wchbk EQ‘)#&_‘QE:.

®ond & &8 Dodads ST dndgo 50 (Kotsees®)

(1) 18 (2) 16
3 15 @) 12

nutes while a second pipe fills it in 15 minutes. But a

ly filled cistern in 6 minutes. The first two pipes are
the third one is also opened. Then the further

A pipe can fill a cistern in 12 mi
third pipe can empty that gﬂ_mpletc
kept open for 5 minutes initially and an |
time (in minutes) taken to empty that cistern 18

KorsSeR) Jodam &) & 08 &g 6 JTos’ g8 oo N
Hes BEDGoDS 5 INTO S SardS PRI Sra 80T
0 ;
' Pevleve) (D5nToS’):
wpd HG ddooko ies ‘
a » T
Www.sakshieaddagon_com
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Suresh’s income is Rs. 40,000 per month. His income gotnere ased h};f;ﬂ' ::;“I:?"'fﬂllﬁly
]Liiu '..:"'-'.]"IET'-{HIHTC '« increased by 12% and his savings IS decreased by 4%. His injty
saving (in Rs.) 1s —
4585 Bk, sIoN0 Sk o, 40,000, @) esmraio g0 20ARE. BQ o5t oy
) , n a 0,4 Apedary (Brarofied’)
wines 12% 20R, PR 4% 8000, ©dn & @0 TN )
(1) 10,000 (2) 9,600
(3) 9,000 (4) 8,400 -

e —

—

The milk and water in vessels A and B are in the ratios 4:3 alnd 2:3 rEEp‘EiHTI‘y. The ratig
:n which the liquids in both vessels are to be mixed to obtain a new mixture in an empty
vessel C to consist of half milk and half water, 18

A S08c%0 B P @od Tren 500080 A6 Sy Jany@yen Sobm 4:3 $30030 2:3. &Tod
Fos* fo BTo 78 8 C & Sodm ST S DoFdood” dio &0, dfo e
&odIBIN), © Good Soddodsd s

(1) 8:4 (M JY:5

3) 43 (4) 23

g

33.

The average marks obtained by 120 candidates in a certain examination is 35. If the
average marks of passed candidates is 39 and the failed candidates is 15, then the number
of candidates who passed the examination is

2.8 Q8% HOE S0t 120 08 wgho g, Sréye Biitn 35. TS GEHRBY VR
Sdop e ik 39 55603 SRS v SrEye HHko 15 vond, & B85S’ ¢ 808
Eﬁ&d%ﬂ Qopg

(1) 85 (2) 90

3) 9 (4) 100

B

34. The sum of 5 consecutive odd numbers is 195. The second lowest number of this series

15 5 less than the second highest number of another series of 5 consecutive even numbers
Q . '
Then 65% of the middle number of that series of consecutive even numbers 18

5 568 2L Yopgo Indo 195, & FHSD Bods EAQ dopg, 5 KD Hodomge? L
S @F5S'D TodS gl Qops £0d 5 850 5.

womed* 65 Tdo

(1 24 .
2

B @, 2

3_]'%:5: & DD ﬁﬂﬁmpaﬂ Eégﬁej";j 505§

waaLsakshieducation.com
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.ven below shows the 4 find Useitto answer the questions from 35 to 39. The ‘Pie diagram’
1vVEe h g . - f- - s . 1
g the Ll'[.'\ll'l.t'lll“l.'!—l'l ol I{[T“I 1o various food crops.
wf » s .. # -1
ndd r___:'_ i '-_ﬁ' s, T b wf = L
B0 20 LRC00WR, TV & 2GAR 35 %000 39 585 fe BHo 2Twobs oekob.

Lad L
( Ned oy 4 2 T 5
HRD RNV @ 0, DG 8 Hobrws Bironods o S,

Suparcane

Vepctables\
rdrmalien

Cottan q.ﬂr.a
; 0
Paddy

=0

fad
L

The percentage of arca allocated to Jowar and Vegetables put together is

£%) $ocin Erdmabos 500 Bironods drdy 8o
(1) 50 (2) 35 (3) 30 (4) 25

36. The ratio of the land allocated for Paddy to the land allocated for vegetables is
28 Bobsks Erorods Frded, Erdmae Dot $ironods grdl fo g
) 7:3 (2) 14:9 (3) 32 4 7:9

37. If a hectares of land 1s Allocated for Cotton and b hectares of land is allocated to
ﬂ - a—
Groundnut; and if F\ k , then 6k =

ﬂ -
oL b orgde SR Bronowmd. —= k

B8 Hotk argde Erd, SodSK D :
Gond, 6k =

@, 5 ¢t @ 3 3) 2 @ 1

s ‘&'_ 0 acres, then the land allocated to Wheat

38. If the land allocated to Vegetables 18 12

(in acres) 1S .
Ao
120 JE80°e0 BLTro0 W,
Erdmoiie Hodso 2) 150

) 10 e - =
(3)
: e
13-C
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39, 1f the land allocated for Cotton is 200 hectares morc than the land allocated for Jﬂ".l.'mL .,
then the land (in hectares) allocated for Paddy 1s 4.

£'%) Dok B0 (B§ Hobk dironoDs gy 200 Trgdiw QBY),H5008, 56 Sobg

BLronods drdo (rgd ')

§ = 200
(1) 2800 (2) 3200
(3) 3600 (4) 4200
40. The angle between the two hands of a clock at 9.40 hours 1s
9.40 fobot HBcirSods*' ok Sneww S0gg8'0
(1) 50° (2) 88 —_
(3) 715° (4) 68°

41. The hands of a clock point in opposite directions between 4 O’ clock and 5 O clock at

-

4
(1) Sﬁﬁ minutes past 4 O’ clock

6

(2) ﬂdﬁ minutes past 4 O’ clock

4
(3) 5Uﬁ minutes past 4 O’ clock

(4) 45 minutes past 4 O clock
4 ot SoB6sn 5 flobe Sy KACSIE0SY Snwyen 5838 HFS! &odMNG 530050

4
(1) 4 febo Sﬁﬁ B IRVRHNAIOT-Y

6
(2) 4 dobe 54ﬁ HISUPOIARTITS)

4
(3) 4 robre SGE' DS0ASwLE

(4) 4 fobie 45 DSnaBSeEs

e, g __.———-_"'_'_'_._'

www.sakshieducation.com
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[f the English new year day

968 Tetsre 190R7 Of the year 1991 was Tuesday, then what day of the week is
(1) Sunday

) : 7
(3) Saturday (2)  Monday

(4) Friday -
19915 RO Eoes* GO Joresis NOIHS &

, do SofdTdo wond, 26 2550 1998 36
TEoS'D D B0 wHon? |

(L) ‘easbe (2) oo

(3) &0 (4) HEa8o

Aind B 5+taned+ a business with investments in the ratio 4:5. After 3 months, A withdrew
;5 7o of his capital and B withdrew 20% of his capital. If the profit at the end of the year
18 Rs. 9000, then B’s share of the profit (in rupees) is

A 00cSn B en 45 igadie IQES of J3FroR) @lodomd. 3 Jve SHTE,
A 08d DRDE 0ol 25% H0csn B wEd inwd Sod 20% ISE, 8.
BoddTrodost SIS erdo & 9000 ©ond, ergos” B Gy, i (Srdraid)

(1) 3600 (2) 4200

(3) 4800 (4) 5100

A, B and C started a business with capitals that are in the ratio 8:9:10. After 3 months B

5

I
Cco 1 l P- ithdrew ﬂf hls

capital. In the annual profit of Rs. 2,37,300, the C’s share (in rupees) 1s

A B.C e 89:10 g;’lﬁﬁ" &) ';‘.:ége;cbe:r‘j‘ ul TYFTR) FéoDowrdy. Srd OO

1 SHad Sordkd
£ &> Bnardy vssor JDErGT, ©
S B 08 Hignds’ 7 3 80 =3l

: 1 4. DoSeéhorod ergo
= & el 38§, 8RNI A
sovdy C &85 ".':62332"55‘ 5 s 80 2 b

| T {ﬁrnﬂﬁ‘}
&. 2,37,300 &°, € (2) 81,600

g) '33,232 4) 67,300
3) 75,

WWW.sakshieducation.com
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45. 145~ 40D =24, then (20 =
4*— 4(x-1) = 24 o8, () =
(1) 3° @Y
[3] 45-"1 {4} 55?3
46. 18-|5-6{6+2(7-8-5)} |-
(&) 71 2) 79
(3) 97 (4) 102
47. 55.005+0.0155+5055.05555+50.150-59.91319-5100.31286 =
(1) 5010.31286 (2) 5011.28163
(3) 5100.31865 (4) 0O
48. The number of ordered pairs of positive integers having 30 as their L.C.M. 1s
300 E&m. m E008 &8 ?"-gj"'q;oé l_ﬁﬁaoﬁmn‘"éﬂ Qopg
(1) 30 (2). 27
(3) 20 (4) 15

49.

The least multiple of 7 which leaves the remainder 4 when divided by each of 6, 9, 15
and 18 is

6.9, 15 500050 18 0&* (HETIEH Thodddyd 4 & Fdomr ad) 7 S, Kdereod
EQQ E’aumg

(1) 182 (2) 350

(3) 364 (4) 455

The sum of two positive integers is 594. Their H.C.E. is 33. The number of pairs of such
numbers satisfying these conditions is

Bodk & Pgose 3ngo 594. T8 B.2rer. 33, & Qohdrod SRMBET Sogrgasnme

Sopg
(1) 2 (2) 3 (3) 4 4) 5

—

www.sakshieducation.com
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51. ThL ‘I_—;TLT“LF.I' value of & such that cach one of the numbers = %% o % _—
integer is
4 20 8 136
ﬂ-_';ljk EE{,—';E oS |Da E-*r;{,-’f) I Tk 'wcﬁjgtﬁuﬁ k Qo8 0y Jwod
s 4
(1) 126 (2) E
4 4
; e ——
) 36 @ 5
32, AC is the diameter of the circle and is a diagonal of the quadrilateral ABCD inscribed in
it whose sides are AB = 30, CD = 10, BC = 40 units. Then the area (in sq.units) of that
quadrilateral 1s
AC 36 o8 53S0 DBg), Jrgoamw 458050 ©8 AB =30, CD = 10, BC =40 ciorddd
heen™ EOR, © 5&@06‘ ©od8DoTWEI zﬁéar:ﬁ;:;}es.a ABCD G308, d5gaw. VI8
E ﬁé:daaﬁn G3o0g), ITOFo (.08 00657)
(1) 1200 (2) 2006
+4/3
3) 100 (6+/6) (4) 100 (3+3)
' ] ircle is 462 cm?, then the
53. A circle is inscribed in an EC[UIIEIE;'E'II triangle. If the area of the circle is 462 cm
i jangle (in cms) 18
perimeter of that triang am )
B. a5 57 IToso 462 §.700..0 VA0S,
o€ Biverdo @ihuod’ ek Syso @c:rﬂ,ﬂ;t}ﬁﬂ&u & 9G TG
0008
& Behadn Gw§, WERFOS (wo T
(1) 196 2 172 (3) 132 (4)
: i 3:2: f their
i oom are in the ratio 3-2:1 and the sum 0O
54. The length, breadth and height of a T

rs. If the walls and the ceiling of this room 1s to be painted at a rate
;llﬂ expenditure involved (in Rs.) 1s

458050 Jdgen 3:2:1 QARBS" GTOD $y8030 T8 Fode
b pork ok SE5H LB

dimensions is 18 mete
of Rs. 15 per Sq.meter,

8 @, T8, [den ”
i_:, 18 i’aéad: e NG G308, foden Sobodn L}ﬁéj{
o 2.

§ P (Somee’)

4 Golks BowowaIs wdd -
15 diie Béd T o 1840 3) 1960 @ 2
(1) 1350

17-C
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S5, In AABC, ZACB = 90° and CD is perpendicular to AB. IfAD =4 cm and BD =g em
then CD =
(1) 6cm (2) Scm (3) 3cm (4) 8cm
AABC &*, ZACB = 90° S0 AB & CD woworr ¢08. AD =4 0.0, Sy,
BD =9 0.a0. ®@a0d, edyd CD =

(1) 6%o.a. (2) S o.ab.
(3) 3 o.2. (4) 8 0.0

.

[n questions from 56 to 62, every question is followed by two statements I and I1. Make your

dNSWCT as

(1).1f statement | alone can give the answer to the question:
(2), if statement II alone can give the answer to the question;

(3). i statements I and II together only can give the answer to the question and

(4), if statements [ and II together also cannot answer the question and additional information
IS necessary

36 Bood 62 S55 Ke PHeS, ol DY T8 P Bodk HSSaren 1, 11 Q.
23550 [ef & Sr@d BH% 2ardsond, (1) vd;

©55%0 M58 Srgd $6H%H 2TdSNONE, (2) vd;

wadTen L Il e Bodo £0% 2TAS0008, (3) @;

E3sTes L 1l oo Bodr 00, 530508 S8rado &ol &by, 2TDS5BEDE, (4) ©d, D
R3rgrdorm R3¢04.

>6.  For real numbers a and b, 1s |a| > |b| ?

TRE Jopgen a, b ok, al > |b| wHesomr?
(I) a>bp
(I ;a=b

37. Is n exactly divisible by 120? -

(I)  nis the product of five consec
(II)  n is divisible by 6 and 20

nd 120 Do iy
(I) =& 5635 JTOE® ©R0 n
(II) 7% 6508050 20 exn VAo Ao

3 www.sakshieducation.com
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58, What is the area of A DEF?

(D D, E, F are mid-points of the sides of A ABC
(I Area of AABC is 10 §q. units,

ADEF Ei‘e_}amgﬁ?

(D D,E,Fes AABC there Qg B¢y DodoHen
() AABC 3zogo 10 ¢.alrén

59. Ifag =S5, what s the value of aj +a; + ... + a7

I) a,=3a,forl<n<7
(I)y a,>0,for 1<pn<7

29 = 5 ®ow8, ag +a; + ... + a; Ak Jend Jod?
M 1sn<78 a,=3a,,
(II) 1€n<78, a,>0

60. What is the profit percentage?
(I) The cost price of 8 books is the selling price of 6 books

(II) Each book is sold at Rs.72

erfTda008?
() 8Jdsw F) do 6 5o vd I JrI0

() B8 PESR) . 728 VT

4x°

i)

e 7, what is the value of 4x’y

61. For x,y

%?Ez g, 413;:-4;3 S

19-C
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62. How is A related to B?

(1) B is the brother of C and C is the son of A.
(I1) A is the husband of D and D is the mother of B.

B8 A& Ko domodo Da?
(D CRwg Fscd BSdcin A Gng), S3rdd C.
(I D Bwg) g A Sodasn B @ng), 89 D.

To answer the questions 63 and 64, rcad the following information and choose the coreg
option, |
63 00 64 BHOK 2T TALERE Bod JSrTorR) $HD TS YT JodE BEHos

—

In a group of five persons A, B, C, D, E

(1) B and C are bright in Mathematics and Geography
(11) A and C are bright in Mathematics and History
(1) B.and D are bright in Politics and Geography

(1v) D and E are bright in Politics and Botany

(v) E s bright in Botany, History and Politics

A.B,C. D, E o3 2&iHod Sg8en fe wl dduorodos®

(1) B3otose Cen Addd o, drida3od® thissardd
(11) A 30803 Cen fed&7 30, S0 gec* ST

(iii) B &o0cin D en o°ad8 30, dri'éd oS’ Sssadd
(iv) D &obosw Een 528730, ST 308" SH&kssad
(v) E3ygego, 8@ 508050 0a2ddadgod' hidssad

63. Who is bright in Politics, Mathematics and Geography?

o2ddT o, ABETHo o8N AT Y Snos® HEBITE ISE?
(1) A (2) B
(3) C @4 D B

64. Who is bright in Mathematics and History but not in Geography”
i 306° 500, ABSTHE0 58050 IBGeS* HWEITE Q587

(1) C (2) E
| (3) A Www.sakshieducatiﬁfaajm B o
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faces into 125 identica]
coloured faces, i

&8 18 OIS0 BwY <
e Eﬂa [ Y ] "
T TR ;s.jjmall::m“]a%:zﬁ“‘ I o) G0y SIards. es WYy 125 NEE BB
F2o0d, g r %8 |
gaﬁ:éuﬁ" Jot ;’;_-,-L_ﬁﬂj Kes S ;:]U;E » ol oaredt, dois SoHn8S RESEI

(1) 12 B

60.

—

The exact die amon ' woem
L - among the follow | .
given in the following it iT‘-rlﬂg Options that can be obtained by folding the sheet

5O c0AdS DSOS & 858
O03chS DGos* D TS S
SOGS FOE A) ©o Gad oo wdo

%

(1) ) @ 3) (4)

67. One of the hidden figure, in the following figure is

& (B08 Heaswe® wodhd &) w8 Do

XX
Vo K

(1) -

www.sakshieducation.cem—
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68.  Which one of the following options follows the given rule?
Rule : The closed figure inside the first cell goes on losing its sides one at a ime and th,
open figure inside the first cell goes on gaining its sides onc at a time.
BOaS 2 sFod’ & DDoGHH ©B8H00WH WB?
OGN Do KA PoSys Lo, SESE LS TUYS ) 55 %o0h Bobaty
SwEE HES'Y I5)d HLo SEHE wEL THYI erd) 0 Fotodoob
2) @ <—x> ({2
? QUK
69. IfAXB=A2-B2and AYB = A® + B2, then the value of (9X6) Y (8X5)

AXB =A% - B25otain AYB =A%+ BZeowd, (9X6) Y (8X5) @ng), dens

(1) 3645 (2) 3546
(3) 3456 (4) 6345

e

-

The number of numbers in the following sequence, each of which is immediately
preceeded by a consonant and immediately followed by a symbol 1s

& Bob BHERHS'D Sopgus® TIE SEmo S06HE) THoS* wE repdr DO
éEe0 Sogd sg:&a:ﬁ‘ w8 Jo8erR) KOS Jopge dopg
R*TIL2$D=M#8C%B<K|&AW?PE+Q@7F6

(1 1 2) 3 (3) 4 4) 2

www sakshieducation-eem

——
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o How many consonans 4 e

1 the {; :
sonant byg . “‘ the “‘-'”.l"-'-flng sequence, each of which is immediately
YHimmediately followed by a symbol?
&5 Srey BoE) $Emo
SRTE TV0S* Wl Hodde
NSJ*4WM | U%K24BD701T 3APADSER
(1 1 | 3 -

(3) 3

Bod v ENos*

fl).}urﬁ;:::;] 1'?;{“"5*..1'35‘ u.l_'u: Gotsr, T SHERO

e

[n questions from 72 to 76, a Stquence with one blank is given in each question. Identify the
correct answer among the given options to fill that blank.

72500 76 SR fo PHod' R Ha BHT'D wfEDos e 28 wrd e alwbod. 8 I
FooST RS 00NN DT Hod IBS oQFois KHBoSad.

7. 448. 220, 106, 49, 625
(1) 17.5 (2) 205
@3y 125 (4) 9.25
73, 7. 151,251, 315,
(2) 417
0., 3= 4) 619
(3) 513
5 136, 131, 124, 127,
14, 142, ;45, 140,133, 2 125
(b)) 124 (4) 122
(3) - 123
L AR
L WXY
15 “ANCD, GHI,___.#E’W (2) KLMN
(1) NOPQ (4) E’QR
3 MNOP/ i
HJ) B (2) IFE
Tﬁ MKJr_._.---""_'_'__-‘ .4 3
USR, QON, 2 -
(1) IGE g

3) IFG ///
"'"\-...E_ ) www.sakshg%u_c&tion.com
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In the questions from 77 to 79, in each question, there must be 4 entries and there myg, be

between the thirg

gf:gin‘lte rc]atinr:a between the first two entries. The same relation also holds
nd tourth entries. Fill the blanks with correct option,

77 %08 79 58% Ko RHOS HO PHS'W 4 YoTWOTD KB FEE Tods wope Sort
&8 A Jowodo Godd. wtnSodd HoodHo Sords, Teols vore s Sro ﬂﬁiuc;t

e RO mﬂ&éué‘ Jrdodod.

i 6: 1 51124
(1) 146 (2) 164 (3) 215 (4) 175
78. KNQT : MQUY :: ADGJ : o
(1) DGEF (2) MPVW
(3) BEHK (4) CGKO
79. Ample : Enormons :: : -
(L) Cat: Tiger (2) Warmth : Frost
(3) Stout : Lusty (4) Rich : Prince
SN : QTGS &
(1) & : 8K(6) (2) &(6)H& : (@G
(3) }&: o (4) 65 : @&
80. If'DECK'is written as QRPX in a certain code, then the code for LIME is
2.8 A8y §5°G¢" DECK & QRPX ooy, @dyd LIME § §°6
R
(1) VYRZ (2) RZVY £
(3) VZRY (4) YVZR
81. A man said to a woman, "The only son of your brother is the brother of my wife". Then

that woman is related to the wife of that man as

(1) Aunt (2) Sister
(3) Mother (4) Grand mother

o8 558 w8 RS, "L FEHE Y, 38 HSrdHd I ardy B EHE” v
oByd, © é'gﬁ & 538 B8 g8’ o Sowodo

(1) &9 B8 Sold BwE), F*aE0 (2) =at
(3) &0 (4) o) Bor Tk

-—

www.sakshieducation.com
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questions 82 and 83

. "I " ™ - 5 ]
“__]] ]E,;::id;i N ofage between Jand 12 years f;
E Peareile ‘ ars fr
[!”] o L?.qplu 25 years of age, who repres ?I:l
(_m CIIOr Citizens of age above 60 years. o
\ .r : L4 s
(iv) Phy Stcally challenged persons,
The candidate wil] be refe %
The can € referred to the secretn
categories but donates car,

b[und ONce 1
i CC 1IN a vear,
NI&I’L. YOur answer ds s

low income group.

'N games and sports at national level

ry if he/she does not belong to any of the above

(1), if the candidate js chigible
g s ;
(2), 1f the candidate IS referred to the secretary;

(3), l:flh(.' candidate is not eligible for concession:
(4), 1if the data is inadequate.,

for concession:

82 S08c3n 83 PHoH JorsSen : §od vdrTrord) @Edm S0, 82 Sbakn 83 PHoK
ﬁbﬁ‘ﬁﬁaﬁ&o&.

ol STeod' J uf) IS BodS 5708, o rggd (Health Club), o0 Soms*® 50 T
Tro08™ 2308,

() eonTobigs Bodd T°0 HyBoinod 5 Hddkw 12 Soddre Sogg Schidy) HoTd.
(il) z=écD f.ga:ae.‘i" she, §dok @850 50D, 25 Joddyore SR I8 Jo ém
(iii) 60 JoSoen D& SBrSHSen.

(iv) DEeroioen (Bargoien)

2 &) éu;uﬁ" A0t TodEFonT, vsk/aR HoSHoRE wsId JETNo 3N, 6 VPRI

5850 Synsé .
D JHE;TTW)
g0 TronbE el Go0d, (1) md;
©ZHA 5°6560) Symé 8%, (2) mso;
weigh TonSs w5d, o8, (3) mS;
derodo 46 FEa, (4) Moo asgod.

to complete 60 years, donates blood once in a year.

b ggordo BT,

82.  Anthony. who is about
. 55Gh es0d'Q, ﬁﬂﬁéﬂ)ﬂ‘ﬂﬁ e B -

60 Boss e TL BHE

_— www.sakshieducation.com
=
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g1 Anitha is a national player in Table Tenms.

B0 DG shs' wdd of wdob a0,

e

84 Given below are the different positions of a die. The number that comes in the place of X ig

wf 0E B, 2DF) Hdeo & BHBS cndpdsd. X Ty’ 5Ty Somg

; . o) 4
oy i mfl
| 11

[1 IV

(1) 3 (2) 5
(3) 2 4) 1

Read the information given below and answer the questions 85 and 86

A.B.C.D, E, F, G and H are eight friends sitting around a circular table facing towards its
centre as follows:

(i) H is on the immediate left of A but is not a neighbour of D or E
(ii) F is on the immediate right of B and G is a neighbour of E

(ii1) C is in between E and F
Bod SdroTy) GH 85 Sookn 86 otk SSrTodiged.

A.B,C,D,E F G Hed 8 S0b b, wf Sgsd 2OMHLY T SoT A8 sDBwpoT,
& (Bobd DGorm Brdyamdy

(i) APES 8533 Heand, vond vdd DS 8o EH 2608 84
(i) B3 £6395 F satke H0050 E& G s

iii) E %000 F o S5 C samd NG
["IJ & 5 ™) ” @
85. The position of D is

(1) Onimmediate left of B (2) Second to the right of F
(3) On the immediate left of A (4) Between B and F

D &gy, geo

(1) B @53 26393 (2) F5 8338 30458

(3) A ©BE)S JESIYS (4) BSodosw Fo Sogg

T www.sakshieducation.com
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which one of the following is true?
(1) E is between F and B

2) F is a neighbour of G

3) G isinbetween H and E

(4) Hisbetween A and D

& §od TAS* 2B DgHn?

(1) FSo0aiw Beo %0¢3e* E wand
2) G R0g), o8 FHad F

(3) Hoboso E o S5 G sand
(4) A So60so Do Sogg H eamd

' ' : state led as Assertion (A) and
In questions from 87 to 89, Every question has two statements labe _
Regsnn (R). Choose the correct n:gtiﬂn from the following choices (1), (2), (3), (4). Give your

answer as

(1), if both (A) and (R) are true and (R)
(2), if both (A) and (R) are true but (R)
(3), if (A) is true but (R) 1s false and
(4),if (A) is false but (R) is true
87 00D 89 S850 o @’J-‘éle:eﬁ".ﬂ ) 1
BdSTos aond, & Bod QS DS (
D HErerdo s D56 (R) €098, (1) &b

(A) $380530 (R) &5 Bods ¥ O wiad, ()ob
(A) $38080 (R) &0 Doy D8g=2,

(A) 58550, 5 (R) ©d8g5» wo»B, (i)z
(A) eggsn, 579 (R) S8 wond, (4)

is the correct explanation of (A):
1s not the correct explanation of (A);

aasn sdmo (R) wy Dol

A)
8 @ﬁﬁé}‘ ma&ééﬁo ] 83338 TR JouE Dobod.

), (2), (3), (4) 08" B

H}
:.I.'. g;’)tsc,}&.

= climate
: : 4 tropical mons yical lantu
87. Assertion (A) : India I-lﬂigcatcg exactly betweer e a5 sesoerd) 59N #otne8
: 1a 1S ¢ 30
Reason (R) : India 1 ”

. do ﬁ-’:}.jﬂdﬂ ﬂ:}ﬁﬂﬂ’ -E,GE!
dyyBgge (A) ﬁ'zzéa a: < ode GEOINC o85S #
sdwmo (R) &

g www.sakshieducation.com
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88. Assertion (A) : Food materials should not be soaked in water for a long time
Reason (R)  : Washing leads to loss of Vitamin A and vitamin D from the food stuff
VHBE50 (A) : 83 JTToh IS Hoho NS TEBLErES
580 (R)  BMOL, Bdwomrdine Mo ddns A Hboty dbiawe De cﬂ::-ézr
Va8 E‘ﬂe’.&ﬁga&

89.  Assertion (A) : Red colour of blood is due to haecmoglobin
Reason (R)  : Haemoglobin is a red pigment
N8G50 (A) : 5505 NP Sok rArTHS Su EdAS
820 (R) @ T3rADS wf A8 S50 (o)

[n each of the following questions from 90 to 94, find the odd term from the given choices and
WTILE 1t as your answer.

90 %00 94 505 Ho B8 PHS'D, &4 pYFoS* HF O T°AJ E0EYI, TAJ D dSrgor
oroiood. '

90. (1) Eagle (2) Peacock
(3) Ostrich (4) Hawk
(1) &AS (2) o5&
(3) =@w (4) &5
91. (1) September (2) May
(3) June (4) November
(1) Roes 2) %
(3) =~ (4) SSo&
92. (1) EJO | (2) HMR N
(3) DIN (4) LPT
93. (1) 273 (2) 133
(3) 155 (4) 221
94. (1) 6 (2) 20
(3) 42 (4) 74

1 Lt 1 g
— WWww SaKksneatucaton-eom
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95.  Anil walks 20 meters from his «c
. e a5 I It - * % " - 3
again turns left and walks 50 :r:gt{;]r:m“gl:h::}:t::ﬁlIL'mILt" lurina Ielti. walks 30 meters,
nearest distance ; s ! S nght and walks 40 meters. The
ce and the direction from the school to his present position, is
(1) 50 meters, North (2) 70 meters, South
(3) 70 meters, West (4) 50 meters, West
8435 o Dod edS aado 39 20 b}h@ NEOTH. ShTd 35 55 D8 BBA
30 oS 38D, Sodo IEDJHIE G8N 20 bty Sh. 1 ShB Bk
SALYIR BON 40 QLG Erdo S e B0 WEH AN HBE KoLl Erdo
508050 BF \ )
(1) 50 b, edso (2) 70 ooy, S8wo
(3) 70 b, HESd (4) 50 dobothy, H85:8
96. Sunil s facing East. He turned 100° in the clockwise direction and then turned 145° in

the anti clock wise direction. In which direction is Sunil facing now?
(1) South East {2) North East
(3) North - West (4) South

200G S8 SYRE @DSopom &I, edd H&oirSod” Sneen 800 63 (33589 &°
100° &84, v S8 wdHIS B3S° 145° 8o, RdYE Hod J BISY whiopomr
SaE?

(1) Ei'ﬁqlcﬁoo (2) &adgo

(3) arasnSgo (4) &Emo

97.

In a certain code, if “RECTANG LE” is coded as “IVXGZMTOV™, then the code for

“SPHERE™ is
28 Q0L §'4S° “RECTANGLE”% “IVXGZMTOV ™ 58 9%, ous* “SPHERE'S

S
(1) HKSVIV (2) HTKVIV
(3) HKTVIV (4) HKSVIV .
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98. Ina certain code, if PINK = 50 and RED = 27, then BLACK =
LB 003 §'G* 1[:_1.??“[\ =50 So0asn RED = 27 ©ox8, ik I}Fl;.l}g‘l:i =
(1) 4] (2) 32
(3) 29 (4) 28
99. If strawberry is called apple, apple 1s called grape, grape 1s called mango, mango is
called pomegranate and pomegranate is called guava, which of the following is a yellow
frunt?
(1) Mango (2) Pomegranate
(3) Grape (4) Guava

@ﬁ@a sLEMISr, eLSH TSy, B Sradmdo, Srddl TSy TRe, SRSk
S Bomrdsr SgSr0R, BobITIS 3H0Ydors Hodd IB?

(1) So208 2) o8y

(3) ©& (4) 2

100.

In a certain code if SILVER is written as MITSFW and FORM is written as PGNS, then
the code for COVALENT is

o€ 905 §66* SILVER & MITSFW iz $005 FORM & PGNS mir o, o8y
COVALENT & &'

(1) BPWUODFM (2) BWPDUOFM
(3) BWPUDOMF (4) FMBWPDUO

<

www.sakshieducation.com




	0.jpg
	1.jpg
	2.jpg
	3.jpg
	4.jpg
	5.jpg
	6.jpg
	7.jpg
	8.jpg
	9.jpg
	10.jpg
	11.jpg
	12.jpg
	13.jpg
	14.jpg
	15.jpg
	16.jpg
	17.jpg
	18.jpg
	19.jpg
	20.jpg
	21.jpg
	22.jpg
	23.jpg
	24.jpg
	25.jpg
	26.jpg
	27.jpg
	28.jpg

